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T (75397
HEA1eTIGd 19597 #1 STYaH 16T 37X 37T JIerT Hilorg :

(1)
(ii)
(ii1)

39 J97-97 H 33 Y97 & | @4t 397 HAfdard & |
I8 YI7-9 giel GUS] 7 [q95id 8 - @ &, @, W, 909 & |

GUE & - ¥o7 &I 1 & 16 7% Tglasedid JHR & Jo7 & | J&F Fo7 1 37 H7
&/

(iv) @U@ - ¥97 G&I7 17 @ 21 7% 37 TY-F0T FBR & J97 8 | JAF F97 2 371
#E
(v)  TUE T J97 G&I1 22 T 28 7% TTg-IT0T JHR & 97 & | IA% 97 3 37 F & |
(vi) TS F- J97 G&IT 29 TIT 30 HT-3TITRT F97 & | T o7 4 371 #H7 & |
(vii) VS &F- Y97 &7 31 T 33 -39 JHR & J97 8 | Ie9% o7 5 37H] &1 5 |
(viii) 9799 H GHY [qheq 781 1397 =7 & | Je019, @8 & & 3ifalts 37~ T @usi &
P F1 T IFTARS 19T & TI7 1697 T 8 |
(ix) &7 3 1% giecanea sl & g 377 397-97 & |
(x)  PoPpaict 1 IFT afdd & |
U H
Yo7 G&IT 1 & 16 T Tglashedid J#R & 1 3% & J97 & | 16 x1=16
1.  EhHY qwdl i 3d A § Sedl g3 SRRk &HAT 1 Hal 5hH 3 :
(A)  MnOj < Cr,05~ < VO,
(B) Cr,02” < VO, < MnOj
(C)  VOg < Cr,02”< MnOj
(D)  VOy < MnOj < Cr,0%~
2.  GHA [CoCly(en)s]t GRI TG THTSIISAT T YK 8 :

(A)  IYI FHTE—EdT
(B) ST HHTEHEAT

(C) swa&ieﬁum EIERELI

(D)  AEEA HHTEIA]



General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 33 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v)  Section C — questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

(vii) Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

(viii) There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

(ix) Kindly note that there is a separate question paper for Visually Impaired

candidates.
(x) Use of calculators is not allowed.
SECTION A
Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark
each. 16x1=16
1. The correct order for the increasing oxidizing power in 3d series of

transition elements is :
(A)  MnOj < Cr,07” < VO,
(B) Cr,02” < VO, < MnOj
(C)  VOg < Cr,02”< MnOj
(D) VO3 < MnOj < Cr,05~
2. The type of isomerism shown by the complex [CoCly(en)s]™ is :
(A) Linkage isomerism
(B)  Geometrical isomerism
(C)  Coordination isomerism

(D) Ionization isomerism
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(A)  sp’d
(B) sp’
(©)  sp’d?®
(D) d%sp®

4. Tafafaga # 9 fr8 T Fteh SRR foRfad foham ST Thal 7 ?

(A) KCN & #1g WYl FAiss
(B) KCN & @1 e FINse
(C) KON % |19 NfUd Ueshigial
(D) KCN % 919 e Ueahlaidd

5. fafafad 5 9 -1 gaifaes s 2 2

6.  HI = a9 AfUfsha #h (CHy), CH— O — CH, AT 2 -
(A) (CH,),CH - OH + CH; - OH
(B) (CH3),CH-OH + CH; -1
(C) (CH3),CH-1+CH,;-OH
(D) (CHg);CH -1+ CH,-1



3. Which one of the following hybrid states is associated with low spin

complex ?
(A)  sp’d
(B) sp°
©) spid?
(D) d2 sp3

4, Butanenitrile may be prepared by heating :

(A)
(B)
(C)
(D)

propyl chloride with KCN
butyl chloride with KCN
propyl alcohol with KCN
butyl alcohol with KCN

5. Which of the following is most acidic ?

6. (CHj3), CH — O — CH4 reacts with HI to give :

(A)
(B)
()
(D)
56/2/3-12

(CH,),CH — OH + CH3 — OH
(CH,),CH — OH + CHy — I

(CHz),CH-1 + CH; — OH
(

CH3),CH - T + CH, -1
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7.  C3HgO 3fueh g3 o Aifiek (X) =l forell g&t Aifires (Y) # weer sAfereliento
HHhi gRI ATrelichd foram S wehan 8, frmemt stfvess ¥ C3H0, 7 | A
X ®
(A) CH4-CH,-O - CH,
(B) CH,- ?H — CH,
OH
(C) CH,-CH, - CH, - OH
(D) 3IWFd § ¥ hI3 T
8. 10 mL UHIEH I 50 mL FARGM % @1 U™ W oo™ &1 $a e
éﬁﬂ:
(A) <60mL
(B) >60mL
(C) =60mL
(D) =100 mL
9. @Eﬁf@ﬁﬁﬁSEﬁTgaﬂg'%:
(A) ohmcm ™
(B) ohm™
(C) em™
(D) ohm™!em? mol!
10. Tt Afufsher R —— 3cute & foTU, log [R] Wd TFF & HeT UM Eied W Th

T [T uTed gidl g fSeeh @t — 1.25 51 3 | srfvrfsman hl shife 2

(A)
(B)
()
(D)

56/2/3-12
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7. A compound (X) with the molecular formula C3HgO can be oxidized by
strong oxidizing agents to another compound (Y) whose molecular

formula is C3HgO,. The compound (X) is :
(A) CH3-CH,;-0-CHgq

(B) CH,- CH - CH,

|
OH

(C) CH,-CH,-CH,-OH

(D) None of the above

8. On mixing 10 mL of acetone with 50 mL of chloroform, the total volume

of the solution will be :

(A) <60mL
(B) > 60 mL
(C) =60mL
(D) =100 mL
9. The unit of cell constant is :

(A) ohm cm™!
(B) ohm™!
(C) em ™

(D) ohm_1 cm2 mol_1

10. For a certain reaction R —— products, a plot of log [R] vs. time gives a

straight line with a slope of —1:25 s™1 . The order of the reaction is :

(A) One
(B) Zero
(C) Two

(D)  Fractional
56/2/3-12 7 VAWV P.T.O.



11.  Toell s hife stfufshar A —— 3 & faT ¢y, 8

[A], 2-303 log 2
(A) o (B) .
1 (A

STET [A], = %R 6 IR dgar, k = a7 e

12. Tore ramsusiicr faei™ & Selid foae@ o a9 <« &1 ufees 19999 0-0225
2 | 37Tl facid 1 HIA-3T91 2

(A) 080
(B) 0725
(C) 015
(D)  0-0225

Uy7 §&q7 18 @ 16 & o0, @1 %97 130 70 § — SG77 v &t 997 (A) aoar
gHY &1 BT (R) ZRT 3ifad 271 7141 & | 379 9971 & @1 I 71t 130 77 Fist
(A), (B), (C) & (D) & @ g7a v |

(A) 3R (A) 3R HRO (R) HT T8 8 3R R0 (R), 3Mhed (A) i
&l SIS hdl © |

(B)  AfYheH (A) 3R SR (R) THI F&l 8, T AU (R), 3MUHAT (A) i
g STSAT T8I hLdT B |

(€) fipaa (A) Bl B, W SR (R) A 7 |

(D) AYHH (A) T §, Ig SR (R) T& 7 |



11.  For a zero order reaction A —— products, ty/, is:

[A], 2-303 log 2
(A) = (B) n

1 [A],
© 1qa, T

where [A] = initial concentration of the reactant, k = rate constant.

12. The relative lowering of vapour pressure of an aqueous solution
containing non-volatile solute is 0:0225. The mole fraction of the

non-volatile solute is :

(A) 0-80
(B) 0725
(C) 015
(D) 0-0225

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

56/2/3-12 9 VWMWY P.T.O.



13.  HYHYT (A) : WEHARGEAUHA 1 o1 | U goe &R 2 |
HRU(R): UM S Torf 7 |

14. 379597 (A) : Toerfim ¢ gor iR # afea 7€ fopan S aepan 2 |
HRU(R): 9 C a1 ¥ fooid g 3R I8 @ ¥ §F o |l Icarid

B SR |

15. 379F9T (A) : Ufcshd BTSS! hl UHIAI-3TTHeT Ufeshd adilse o H1Y STHIHAT

% WIATTTes faerm i sTfifshan gry g 2 |

HR (R) : Ufoshel BAITgSl 1 UHHI-3UEeA T&da: fgdies UHA Icurfed

7 |

16.  379FY7 (A) : el Bisa-spreen rfufshan @ 72 Torar 2 |
HR (R) : Frect-shTded ATYTshaT Teh TRttt Ufeema srfufshan B |

17. (&)
(@)
18. (&)
(@)
56/2/3-12

w|is @

Aqifiepl o FHfaRad I ® ¥ HE-A1 ARk U degar § Syl
Tffsha sam T =1 2

CH; - CH, - CH,— Cl 3@ CH, = CH - CH, - Cl

ffeiiad ® &3 3cd1g faIRaT

2x1=2
AAAIE AHe F1 & ? A-A1IS HHaA hl ol H Th ded § il
aed o ofte UfereArag smeha 2aferek giar 7 | =i 2 1+1=2
SPOCH]
ThAYT 1Y U TASH o I=F O R gWidl & ? 3d-9vft § fohm o=
I HE T qIY H 7 ? 1+1=2

10




13.

14.

15.

16.

17.

18.

Assertion (A) : Aniline is a weaker base than cyclohexylamine

Reason (R): Aniline is resonance stabilized.

Assertion (A) : Vitamin C cannot be stored in our body.

Reason (R):  Vitamin C is water soluble and readily excreted in urine.

Assertion (A) : Ammonolysis of alkyl halides involves reaction between
alkyl halide and ethanolic solution of ammonia.

Reason (R): Ammonolysis of alkyl halides mainly produces secondary
amines.
Assertion (A) : Aniline does not undergo Friedel-Crafts reaction.

Reason (R):  Friedel-Crafts reaction is a nucleophilic substitution
reaction.

SECTION B

(a)  Which one of the following pairs of substances undergoes Syl

reaction faster and why ?

(b)  Write the major product in the following :

2x1=2

(a) What is lanthanoid contraction ? Actinoid contraction is greater
from element to element than lanthanoid contraction. Why ? 1+1=2

OR

(b)  Why do transition metals have high enthalpy of atomization ?
Which element of 3d-series has lowest enthalpy of atomization ? 1+1=2

56/2/3-12 11 WAV NN P.T.O.



19.

20.

21.

22,

23.

fafafiga uet w1 gfenfya Hifsw 2x1=2
(%) UCES 9y
(@) Aawes Ui 3

forell wom epife oY srf¥fspan w1 an foumes 1-25x1072 571 8 | 3| rfirpres &
5g ol 2:5g U g U fehaaT a0 o ? 2

[log 2 =0-301, log 3 =0-4771, log4 =0-6021 ]

I (HIeR ge9|M = 180 g mol 1) &1 3% factem fopet erra shreifies erd
% 2:5% fIeF & A1 THIUER B | TG e Ugrd 1 310 YR iehierd
hifoTT | 2

Que T

frefeiRaa & formm & fow erfufsrenstt & wfistor €ifSe @ (@18 777) 3x1=3
) TR 9 BHEA

3

(
(@) Prra 8 dfafesass
(

M) UHEA H 2-HeTRE UG

(1) e | fUfshes o

farafafaa < fou e df Sx1=3
(%) FARE TJulU o 99 g & TR i I8 TUafes soraeiwn
gicrems arfifsranati § st /du e 2 |

(@) s fosor gaor ereoies 8ram 2 |

(M)  n-ATUA FAIzE i T Uerdd FAEe 2Aferes SierdT o Sa-stuefed &
SIcIE




19.

20.

21.

22,

23.

Define the following terms : 2x1=2
(a)  Peptide linkage

(b) Essential amino acids

A first order reaction has a rate constant 1.25 x 107> s™1. How long will
5 g of this reactant take to reduce to 2-5 g ? 2
[log 2 =0-301, log 3 =0-4771, log4 =0-6021 ]

A 3% solution of glucose (molar mass = 180 g mol 1) is isotonic with 2-5%

solution of an unknown organic substance. Calculate the molecular

weight of the unknown organic substance. 2
SECTION C
Give the equations of reactions for the preparation of : (any three) 3x1=3

(a) Phenol from chlorobenzene
(b) Salicylaldehyde from phenol
(c) 2-Methoxyacetophenone from anisole

(d) Picric acid from phenol

Give reasons for the following : 3Ix1=3

(a) Chlorine 1is ortho/para directing in electrophilic aromatic
substitution reactions, though chlorine is an electron withdrawing

group.
(b) Racemic mixture is optically inactive.

(c)  Allyl chloride is hydrolysed more readily than n-propyl chloride.

56/2/3-12 13 WAV NN P.T.O.



24. 283 K W Trdl focmes 1 a1 @ 100 mm Hg & | 3§ F fae=H w1 amy
gre giehfaa <hifore fomem 283 K W foreft ye@t fofa-o1aeed AB &1 1 Hid
fa@me® & 50 A § g0 7 (I8 W wiie b T AB quia: fomifora &1 S
2) | 3

25. 9 H 17°C ¥ 27°C % Jhg & W Frelt TEfim amfshan 1 9 & A1 =
ST 2 | 3\ Stfufshan o forw afsharor et 1 aftehed HifSw | 3
[fe=n = 2 :2:303 R=19-15 JK "' mol 1, log 3 =048 ]

26. fmfaiad @@ =1 991, 96 (emf) IfEwicra i 3

Zn (s) | Zn2* (0-1 M) || Sn2+ (0-001 M) | Sn (s)

[log 10 = 1]
27. Trefefaa siifenet § A, B 3 C i goamd i - 2><1é=3
- NaOH + B
(%) CHz— CHy—Br —SCN Lo OH , BB ¢

STTTITR STeA- 3T H

Fe + HCl | 4 NaNO,, + HCI
g 273 - 278 K

(@)



24.

25.

26.

27.

The vapour pressure of a solvent at 283 K is 100 mm Hg. Calculate the
vapour pressure of a dilute solution containing 1 mole of a strong
electrolyte AB in 50 moles of the solvent at 283 K (assuming complete

dissociation of solute AB). 3

The rate of a gaseous reaction triples when temperature is increased
from 17°C to 27°C. Calculate the energy of activation for this reaction. 3
[Given : 2-303 R = 19-15 JK " mol 7%, log 3 = 0-48]

Calculate emf of the following cell : 3

Zn (s) | Zn%* (0-1 M) || Sn2* (0-001 M) | Sn (s)

[ log 10 = 1]
Write the structures of A, B and C in the following reactions : 2x1 é =3
KCN OH™ NaOH + Br
CH;-CH;-B >A > B 2,
(8) 3= H2T BT Partial hydrolysis
) Fe + HCl , 5 NaNO, + HCl X C,H.OH . o

273-278 K

56/2/3-12 15 WAV NN P.T.O.



28. fo=fafga @ geg srfufsean fafgu - 3x1=3

(%) ach-TFFR 9=
(@) foerreifeaem tffman
() e Afrfshan

Qs v

EITRgT 97 FG-3TENMRT 397 & | G ) e79a% GieT 3K 17T 7T o1 & I Gy |

29, HEigEee Wl W MR AT 4 Sfed & fo smavass gd g | el § e
1 a3 MR # Tergehlon & §9 H Hratage GUew A H1 wifd Ty
g § | THEes ®9 § ¥ uifdesgied Ufcsass sue HiKH B 8 |
HEEES Hl TA-ITHH H ITh HIER o AUR W AFGRES,
MRS TR UIfThise | aifiehd fohdT M1 7 | Tt AH-HUSS STq=ml
IR BT &, 31T I T AfRREe a9 hiow faee o stieeishd &l St & |
TR SET AR5 UrSladdlsl BIdT 8 3T 381 3AMfUaeh ¥ CgH;90g TR
T | fafy= sifyepdent @ HI, HoN — OH, SiHH Sidd, (CH3C0)90 $1E &
T ITHTRAT FHieh 3Heh! T H T Ufcsgise THg, Th WTdTHeh Ueshigiicieh

T8 (- CH,OH) 3R =R fgdioe Uewhigiiclss @98 ( >CHOH) 9T 7T |
ufcegTse TYg U Bid gu i ke Ufcegiss dqg sl %5 AWGRIT JH
1% wlieor, NaHSO4 AN T8l <aTl & | I8 ThId o Gl =shid aHIUEICA &I
% 3Tfedcd Sl FHIAT & HH TH=Td1 shad C — 1 W A gEgiadd d9g

o 1 2t 2
56/2/3-12 16




28. Write the reaction involved in the following : 3Ix1=3
(a)  Wolff-Kishner reduction
(b)  Decarboxylation reaction

(¢) Cannizzaro reaction

SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Carbohydrates are essential for life in both plants and animals.
Carbohydrates are used as storage molecules as starch in plants and
glycogen in animals. Chemically they are polyhydroxy aldehydes or
ketones. On the basis of their behaviour on hydrolysis, carbohydrates are
classified as monosaccharides, oligosaccharides and polysaccharides. All
monosaccharides are reducing sugars, i.e., they are oxidized by Tollens’
reagent and Fehling’s solution. A monosaccharide like glucose is
aldohexose and its molecular formula was found to be CgH190g4. After
reacting with different reagents like HI, HoN — OH, Bromine water,
(CH3CO)50, etc. its structure was found to contain one aldehyde group,
one primary alcoholic group, (- CH,OH) and four secondary alcoholic
groups ( > CHOH). Despite having the aldehyde group, glucose does not
give some of the reactions of aldehyde group like Schiff’s test, NaHSOg4
addition. This explains the existence of glucose in two cyclic hemiacetal
forms which differ only in the configuration of the hydroxyl group at
C-1.

56/2/3-12 17 WAV NN P.T.O.



(%) ST SR w1 Bl B 2 1

(@) FlIiad Sl AHERTEE 3R SFHRIES | arfiehd shINT

A, hid, e, Tiddd 1

() 3T Uiferdhss 1 AW St 8 Wit T’ el Srar 8 | 3| f

T Rl had 8 ? 2

HAAAT

(M (@) TR % I GHEAE % AW Fd1eC Nk s §UH C - 1 W
— OH 99g o fa=ma § & fir=an gt 2 |

(i) TRE H Brg I@ b @1F AMAHAT TR TRMETcHS THE i
Iufedta shi g T & ? 2x1=2

30. THAY g o I U] el R W d-heh Iqu Bd 8 |
TS § AR Wik d-sherehi i Iufedfd ThAT qwdi i STESHHU dwdi
T L ¢l & | AT €9 W ARG d-HeTehi o SR A T o AT
0T SRTd &, S8 3T JATFHIhUl SFEATY, T IRET 1 ST qAT 3T TR
o forrei o @1 g Fmior anfe | HshHOT 9Ty qe $eh Al IIEh! 0T
ITIEIh T IgR Ht WA & | FhAY g1y 37 AR qAT 3Ted ATsasiied Jichl
8 | 3 ES 20 % WHl <l Sita aiEdt ggfa et 2 -




30.

56/2/3-12 19 WAV NN P.T.O.

Answer the following questions :
(a) What are reducing sugars ?

(b) Classify the following into monosaccharide and disaccharide :

Fructose, Sucrose, Lactose, Galactose

(c) Name the polysaccharide which is known as ‘animal starch’. Why is

it called ‘animal starch’ ?

OR

(c) (1) Name the isomers of glucose which in the cyclic form differ

only in the configuration of the — OH group at C — 1.

(ii)  Presence of which functional group was detected when

glucose reacted with Bry water ? 2x1=2

Transition metals have incomplete d-subshell either in neutral atom or in
their ions. The presence of partly filled d-orbitals in their atoms makes
transition elements different from that of the non-transition elements.
With partly filled d-orbitals, these elements exhibit certain characteristic
properties such as display of a variety of oxidation states, formation of
coloured ions and entering into complex formation with a variety of
ligands. The transition metals and their compounds also exhibit catalytic
properties and paramagnetic behaviour. The transition metals are very
hard and have low volatility. An examination of the El(\)/lz I values

shows the varying trends :



(0}
M2t/M

A% -1.18
Cr -091
Mn - 118
Fe - 044
Co -0-28
Ni -0-25
Cu +0-34
Zn - 0-76

56/2/3-12

forE 31U 9T 89 g Fehd & T Cu Teh HshHU d<d & Afehd Zn -al ?
(TEHTY] hATeh : Cu = 29, Zn = 30) 1

AU T HTFHIRT STTEATSAT | fofaedn #i g9rid 3 ? 1

(i) oHfeaw ¥ & T E§42+/M % WH AERE gt s g
7

(i) TShA GTGSTT H AR ST hl THGA-IIdT STESHHIT T
H1 afEd-ar & frm Jer i gt 8 2 2x1=2

AASAT

i) Cr’* 9ad U=H g Jeih Mn " gadl stiaEiehieh, Safh el
& d* wfishiw €, =i 2
(LT 3hHT : Cr = 24, Mn = 25)

(i) T st wfteRtor qui i

2MnO; +H,O+17 —— 2x1=2

20 AAAAAARMAAAAMAANAMANA



0
M2+/M

A% -1.18
Cr -091
Mn -1-18
Fe - 044
Co —0:28
Ni —-0-25
Cu +0-34
Zn - 0-76

Answer the following questions :

(a)

(b)

(c)

(c)

56/2/3-12

On what basis can we say that Cu is a transition element but Zn is

not ? (Atomic number : Cu =29, Zn = 30)

Why do transition elements show variety of oxidation states ?

(i) Why do E§42 M values show irregular trend from Vanadium

to Zinc ?

(i1) How is the variability in oxidation states of transition metals

different from that of the non-transition elements ?

OR

2x1=2

i) Of the da* species, Cr?t is strongly reducing while Mn3* is

strongly oxidizing. Why ? (Atomic number : Cr = 24, Mn = 25)

(ii) Complete the following ionic equation :

9MnO, +HyO +1~ —

21

2x1=2

P.T.O.
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31. (&) () Tw=faRaa & s @i

(1)  hIIHT Y o1 | Ufcearsel o1 TR 3 BT |

(2) UfceaEEl % UeHl (o) BTSGISH WA h Thid Tt

Bt 2 |
Gi) fr=fafea stfufseanst & 3cae fafgu .

(iii) UIHTEh ITFA 3 VYA H fave & o v o gemtes ade
@t | 242+1=5

HAYAT

(@) () ScEEEE & 2,4-STETEIGHARIZSHM hl BLEHT SAT3T |

i) fffad s 39l HCN o ufd stfirfsramsfierd & 9gd g¢ A |
SHafeerd HIT :

CH3COCH; | (CHg)3C — COCHg , CH3CHO

(iii) AT HHA FTHARRE saEe o1 dige 3 B fRE TR

-
BT~ h{ ?

)




31. (a)

(b)

56/2/3-12

(i)

(ii)

(iii)

(1)

(ii)

(iii)

SECTION E

Account for the following :

(1) Oxidation of aldehydes is easier as compared to

ketones.

(2)  The alpha (o) hydrogen atoms of aldehydes are acidic

1n nature.

Write the products in the following reactions :

Give a simple chemical test to distinguish between ethanoic
acid and ethanal. 242+1=5

OR

Draw structure of the 2,4-dinitrophenylhydrazone of
benzaldehyde.

Arrange the following in increasing order of their reactivity
towards HCN :
CH3COCH3 (CH3)3C — COCH3 , CH3CHO

How can you convert phenyl magnesium bromide to benzoic

acid ?
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(iv) ddfcegse 3 W | fave & & fou awa vefaes aiem
fafET |

(v) Tafafea sifufsen 8 g 3oarg fafae

- 5x1=5

32. (%) (@ 005 M CHyCOOH faer=m =1 Ufeig 100 A wmm T | Afg
¥ s 00354 cm™! 2, @ Wit sra foemm hl @ler

=TeTehd] TNehioTd ShIfIT |

(i) U & fogd-staeed w1 yuw fem fafew | 1 9@ MnO, @I
Mn?* & g & fou e # foraw smaw Y srawEeRar Bt 2

2+43=5

AASAT

(@) (G 00025 mol L' UHfifeess srret shi =eiehal 525 x 10° Sem L ® |
gfe Ueifesw v & folg Ay, &1 A 390 S cm? mol ™! B, @

gEehl TS /T <Rt 9ftehetd Shifu |

(i) oIS T a9 & U, $has N Ty ik fafay | 3+2=5



(iv) Give a simple chemical test to distinguish between

benzaldehyde and ethanal.

(v) Write the main product in the following reaction :

o 5x1=5

32. (a) (1) The resistance of 0-05 M CH3COOH solution is found to be

100 ohm. If the cell constant is 0-0354 cm_l, calculate the

molar conductivity of the acetic acid solution.

(ii)  State Faraday’s first law of electrolysis. How much charge in

Faraday is required for the reduction of 1 mol of MnO, to

Mn2* ? 2+3=5

OR

b)) @) The conductivity of 0-0025 mol L7l acetic acid is

525 x 107" S em™L. Calculate its degree of dissociation if A(I)n

2

for acetic acid 1is 390 S cm mol_l.

(ii) Write anode, cathode and overall reaction of lead storage

battery. 3+2=5
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()

56/2/3-12

fafaiaa ° 9 fodl g o 3 difvu 5x1=5

ITTHTTHA Hhol hi fsheed &7 foared ol (o) ThE TR ATHADT

HHA < fordTe HoAl (A) § FSA 7 2

o

fcTiad ¥%a o1 ITUPAC 9 fafEu

[PtCly(en)s] (NOg3)g

ARl AEY g (VBT) & YR W T%d [Ni(CO),] <t smfufa
3R gaehid =aeR fafau |

TFHd [Co(NH;)gl [Cr(CN)g] % gRI fohd JehR 1 HHTERIEAT gors STt
77

foptea o faga & R W fret SyagadeH Aifies § d* omm &1
g e To=ame Ty Afc A, < P &1 | 1 I8 IUEeEaS Ak 3

kYT HAYET f J=Ishur Hehat B 2

[Co(NH3)gl>* 3t [Co(NH3),Cly]t # & N el T B 3N
w1 ?

[PtCly(en)y) >t o TehTi3Teh HHTeRIE! shi BLEHATE SHTST |
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33. Answer any five of the following :

(a)

(b)

(c)

(d)

(e)

)

(g)

56/2/3-12

How is the crystal field splitting energy for octahedral complex (A,)

related to that of tetrahedral complex(A;) ?

Write the IUPAC name of the following complex :
[PtCl2(en)2] (NO3)2

Write the geometry and magnetic behaviour of the complex

[Ni(CO)4] on the basis of Valency Bond Theory (VBT).

What type of isomerism is shown by the complex

[Co(NHg)g] [Cr(CN)g] ?

For the coordination compound on the basis of crystal field theory,
write the electronic configuration for d* ion if A, < P. Is the

coordination compound a high spin or low spin complex ?

Out of [CO(NH3)6]3+ and [Co(NH3),Cly]*, which complex is

heteroleptic and why ?

Draw the structures of optical isomers of [PtClZ(en)2]2+.
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